Name:
Chapter 3 Review

	1.)  Solve the system by graphing.

y = -2|x + 1| - 3
-2x + 3y = -15
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2.)  Solve the system using substitution.

x – y = -5
x + y = 10
3.)  Solve the system using linear combination.
3x + 6y = -9

x + 2y = -3

4.)  Solve the system using any method.

-12x + 6y = 7

2x – y = 3
	5.)  Graph the system of inequalities.

x + y < 7

2x – y 
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x 
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	6.)  Find the minimum and maximum values of the objective function subject to the given constraints.

Objective Function:

C = 7x – 4y

Constraints:

x 
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 0

y 
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 0

4x + 3y 
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7.)  Solve the system using any method.
2x + 5y – 4z = 24

x + 2y – 6z = 23

x + 3y + z = 4
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8.)  Write a system of equations for the three combinations of furniture.

9.)  What is the price of each piece?
10.)  You have a jar of quarters, dimes, and nickels. You have a total of 765 coins. The coins total worth is $61.20. You have six times as many nickels as you do quarters. Write a system of equations and solve for how many quarters, nickels, and dimes you have.

11.)  Domino’s Pizza makes both pizza and pasta bowls.  It takes 2 minutes to make a pizza and 3 minutes to make a pasta bowl.  Domino’s must make orders in no more than 30 minutes.  Orders, also, have a maximum of 12 total items.  Write a system of inequalities to represent this information (Domino’s cannot sell negative pizzas and pasta bowls so both of these variables must be greater than zero).  These will be your constraints.

Domino’s makes $1.20 profit for pizzas and $2.40 for pasta bowls.  Write a profit function for this information.  This is called an objective function.

Graph the constraints to find the vertices of the feasible region.  

[image: image10.png]



Use the vertices to find the number of pizzas and the number pasta bowls Domino’s must make to minimize and maximize their profit.
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